

St Joseph's School, Waroona Kindy Booklist 2018

Name		
Phone		
Bov or	Girl (please circle)	

AVAILABLE FOR PURCHASE FROM WAROONA NEWS (97 331365)

Item Description	Qty	Unit Cost	Total Cost
Art Smock (Nylon) Small short-sleeved Sizes 4 - 6	1	\$12.95	\$12.95
Scrapbooks	2	\$1.40	\$2.80
Scrapbook (News and Cutting)	2	\$3.95	\$7.90
Sharpie fine point marker (black)	2	\$1.95	\$3.90
Black Artline 70	2	\$2.95	\$5.90
UHU Blue Stick 40gms	4	\$2.60	\$10.40
Tissues	2	\$2.80	\$5.60
Plastic Clipboard Folder (A4)	1	\$3.80	\$3.80
Ream of A4 photocopy paper	1	\$5.95	\$5.95
Jumbo Textas	2	\$2.30	\$4.60
Jumbo Crayons	1	\$2.30	\$2.30
Masking tape (18mmx50m)	1	\$2.30	\$2.30
Coloured Pencils Faber Triangular Grip (3.8mm barrel width) (10's)	1	\$4.95	\$4.95
		TOTAL	\$73.35

AVAILABLE TO PURCHASE FROM SCHOOL UNIFORM SHOP

Item Description	Qty	Unit Cost	Total Cost
Library Bag (from Uniform Shop) - Red	1	\$10.00	\$10.00

Please cross out the items you do not wish to purchase from Waroona News. Orders need to be returned to school no later than December 8th, or they may be taken in to Waroona News directly. Completed orders will be available from WAROONA NEWS 12th January, 2018.

<u>Instructions from Class Teacher:</u> Please do not label items, as they will be shared. Please do not cover scrapbooks, as the children will make their own covers.



Phone			
FIIOHE	-	 	

Pre Primary Booklist 2018

Boy or Girl (please circle)

Name

AVAILABLE FOR PURCHASE FROM WAROONA NEWS (97 331365)

Item Description	Qty	Unit Cost	Total Cost
Plastic Clipboard Folder A4	1	\$3.50	\$3.50
Glue Stick UHU Blue 40gm	4	\$2.60	\$10.40
UHU Glue PVA Kids	1	\$5.95	\$5.95
Pencil 2B Faber Triangular Grip	4	.65	\$2.60
Scissors	1	\$1.30	\$1.30
Black Artline 70	1	\$2.95	\$2.95
Sharpie fine point marker (black)	2	\$1.95	\$3.90
Wind-Up Crayons	1	\$2.95	\$2.95
A3 Flip File Folder	1	\$7.95	\$7.95
Scrapbooks – News and Cutting	2	\$3.95	\$7.90
Coloured Pencils Faber Triangular Grip (3.8mm barrel width) (10's)	1	\$4.95	\$4.95
Painting Smock (nylon short sleeve size 4-6)	1	\$12.95	\$12.95
Bugs Project Book (64 pages)	1	\$2.30	\$2.30
Tissues	2	\$2.80	\$5.60
Modelling Clay (pack of 12)	1	\$2.80	\$2.80
Marbig Name Pencil Case - small	1	\$2.00	\$2.00
Pipe Cleaners (pack of 25, 30 coloured)	1	\$3.30	\$3.30
Popsticks (pack of plain)	1	\$3.30	\$3.30
Sticky Tape (18mmx66m)	1	\$2.20	\$2.20
Pencil Grip	1	\$1.35	\$1.35
Masking Tape (18mmx50m)	1	\$2.30	\$2.30
		TOTAL	\$92.45

AVAILABLE TO PURCHASE FROM SCHOOL UNIFORM SHOP

Item Description	Qty	Unit Cost	Total Cost
Homework Bag (from Uniform Shop) - Blue	1	\$10.00	\$10.00
Library Book Bag (from Uniform Shop) – Red**	1	\$10.00	\$10.00

^{**} Students may continue to use a blue book bag for Library, if they already have one, however, when it needs to be replaced, a red one should be purchased.

TO BE PROVIDED BY THE SCHOOL AND BILLED WITH SCHOOL FEES

Item Description	Qty	Unit Cost	Total Cost
School Diary	1	\$8.50	\$8.50
Making Jesus Real Book	1	\$17.00	\$17.00

Please cross out the items you do not wish to purchase from Waroona News. Orders need to be returned to school no later than December 8th, or they may be taken in to Waroona News directly. Completed orders will be available from WAROONA NEWS 12th January, 2018.

<u>Instructions from Class Teacher:</u> Please do not label your child's classroom equipment, as it will be shared. Cover and label scrapbooks, bookbags (homework and library) and painting smocks. Consumable items may need to be replaced during the year and this will be indicated in your child's Reading Record.



Year 1 Booklist 2018

Name	- 1	
Phone		

Boy or Girl (please circle)

AVAILABLE FOR PURCHASE FROM WAROONA NEWS (97 331365)

Item Description	Qty	Unit Cost	Total Cost
Black Artline 90 Chisel Point	2	\$2.95	\$5.90
Sharpie fine point marker (black)	2	\$1.95	\$3.90
A3 Flip File Folder	1	\$7.95	\$7.95
Painting Smock – Nylon 80cm **	1	\$5.95	\$5.95
Glue Stick – UHU 40g	6	\$2.60	\$15.60
Modelling Clay (pkt 12)	2	\$2.80	\$5.60
Pencil Case	1	\$2.50	\$2.50
Pencil Sharpener – Double Metal with Canister	1	\$2.00	\$2.00
Pencil Triangular Faber Grip 2B	15	.65	\$9.75
Coloured Pencils - Triangular Grip Faber 12's	1	\$2.95	\$2.95
Red Marking Pencil	4	.45	\$1.80
Plastic Clipboard Folder A4	1	\$3.80	\$3.80
Wind-up Crayons	2	\$2.95	\$5.90
Ruler – 30cm Wooden (cm & mm)	1	.60	.60
Scissors	1	\$1.30	\$1.30
Scrapbooks 64 Page 335 x 245 mm	4	\$1.40	\$5.60
Pipecleaners (pack 25 x 30cm coloured)	1	\$3.30	\$3.30
Popsticks (pack of coloured)	1	\$3.80	\$3.80
Sticky Tape (large roll 18mm x 33)	1	\$2.20	\$2.20
Masking Tape (large roll)	1	\$2.30	\$2.30
Glue UHU PVA Kids	1	\$5.95	\$5.95
Tissues	1	\$2.80	\$2.80
** Students may already have these items from the previous year		TOTAL	\$101.45

AVAILABLE FOR PURCHASE FROM SCHOOL UNIFORM SHOP

Item Description	Qty	Unit Cost	Total Cost
Library Book Bag (from Uniform Shop) – Red**	1	\$10.00	\$10.00
Homework Bag (from Uniform Shop) - Blue	1	\$10.00	\$10.00

^{**} Students may continue to use a blue book bag for Library if they already have one, however, when it needs to be replaced, a red one should be purchased.

TO BE PROVIDED BY THE SCHOOL AND BILLED WITH SCHOOL FEES

Item Description	Qty	Unit Cost	Total Cost
School Diary	1	\$8.50	\$8.50
Grammar Conventions Book 1	1	\$15.00	\$15.00
Prime Maths Student Book 1A	1	\$13.50	\$13.50
Prime Maths Student Book 1B	1	\$13.50	\$13.50
Making Jesus Real Book	1	\$17.00	\$17.00

Please cross out the items you do not wish to purchase from Waroona News. Orders need to be returned to school no later than December 8th, or they may be taken in to Waroona News directly. Completed orders will be available at WAROONA NEWS from 12th January, 2018. Instructions from Class Teacher: Please label ALL of your child's classroom equipment and cover all scrapbooks. Consumable items may need to be replaced during the year and this will be indicated in your child's diary.



Traine .	
Phone	

Year 2 Booklist 2018

Boy or Girl (please circle)

AVAILABLE FOR PURCHASE FROM WAROONA NEWS (97 331365)

Item Description	Qty	Unit Cost	Total Cost
Black Artline 90 Chisel Point	1	\$2.95	\$2.95
Sharpie fine point marker (black)	2	\$1.95	\$3.90
Eraser (large)	3	.70	\$2.10
Glue Stick – UHU 40g	10	\$2.60	\$26.00
Modelling Clay (pkt 12)	1	\$2.80	\$2.80
Pencil Case	1	\$2.50	\$2.50
Pencil Sharpener – Double Metal with canister	2	\$2.00	\$4.00
Pencil Triangular Faber Grip 2B	10	.65	\$6.50
Coloured Pencils - Triangular Grip Faber 12's	2	\$2.95	\$5.90
Red Marking Pencil	6	.45	\$2.70
Plastic Clipboard Folder A4	2	\$3.80	\$7.60
Wind-up Crayons	1	\$2.95	\$2.95
Ruler – 30cm Wooden (cm & mm)	1	.60	.60
Scissors	1	\$1.30	\$1.30
Scrapbooks 64 Page 335 x 245 mm	8	\$1.40	\$11.20
Masking Tape	1 -	\$2.30	\$2.30
Sticky Tape (small)	2	\$1.30	\$2.60
Popsticks (plain wooden)	1	\$3.30	\$3.30
Pipe Cleaners (pkt 25 30cm coloured)	1	\$3.30	\$3.30
Photocopy Paper (1 ream)	1	\$5.95	\$5.95
Tissues	2	\$2.80	\$5.60
A3 Flip File Folder*	1	\$7.95	\$7.95
Calculator Dual Power – Sovereign Mini Desk*	1	\$6.95	\$6.95
Display Book A4 *	2	.95	\$1.90
* Students may already have these items from the previous year		TOTAL	\$122.85

AVAILABLE TO PURCHASE FROM SCHOOL UNIFORM SHOP

Item Description	Qty	Unit Cost	Total Cost
Library Book Bag (from Uniform Shop) – Red**	1	\$10.00	\$10.00
Homework Bag (from Uniform Shop) - Blue	1	\$10.00	\$10.00

^{**} Students may continue to use a blue book bag for Library, if they already have one, however, when it needs to be replaced, a red one should be purchased.

TO BE PROVIDED BY THE SCHOOL AND BILLED WITH SCHOOL FEES

Item Description	Qty	Unit Cost	Total Cost
School Diary	1	\$8.50	\$8.50
Grammar Conventions 2 Book	1	\$15.00	\$15.00
Prime Maths Student Book 2A	1	\$13.50	\$13.50
Prime Maths Student Book 2B	1	\$13.50	\$13.50
Making Jesus Real Book	1	\$17.00	\$17.00

Please cross out the items you do not wish to purchase from Waroona News. Orders need to be returned to school no later than December 8th, or they may be taken in to Waroona News directly. Completed orders will be available at WAROONA NEWS from 12th January, 2018.

<u>Instructions from Class Teacher:</u> Please label ALL of your child's classroom equipment and cover all scrapbooks. Consumable items may need to be replaced during the year and this will be indicated in your child's diary.



Truine	 	
Phone		

Year 3 Booklist 2018

Boy or Girl (please circle)

AVAILABLE FOR PURCHASE FROM WAROONA NEWS (97 331365)

Item Description	Qty	Unit Cost	Total Cost	
Black Artline 90 Chisel Point	1	\$2.95	\$2.95	
Sharpie fine point marker (black)	2	\$1.95	\$3.90	
Eraser	1	.70	.70	
Glue Stick – UHU 40g	10	\$2.60	\$26.00	
Pencil Standard 2B	6	.50	\$3.00	
Pencil Case	1	\$2.50	\$2.50	
Pencil Sharpener – Double Metal with Canister	1	\$2.00	\$2.00	
Coloured Pencils Triangular Grip Faber 12's	1	\$2.95	\$2.95	
Clipboard Folder A4	2	\$3.80	\$7.60	
Red Marking Pencil	3	.45	\$1.35	
Wind-up Crayons	1	\$2.95	\$2.95	
Ruler – 30cm Wooden (cm & mm)	1	.60	.60	
Scissors	1	\$1.30	\$1.30	
Project Markers (Textas)	1	\$1.85	\$1.85	
Sticky Tape (Small)	5	\$1.30	\$6.50	
Scrapbooks	10	\$1.40	\$14.00	
Targeting Handwriting (NSW Foundation Font) Year 3 Book	1	\$14.95	\$14.95	
Highlighters – Pack of 6	1	\$5.50	\$5.50	
Calculator Dual Power – Sovereign SDT-001*	1	\$6.95	\$6.95	
A3 Flip File Folder*	1	\$7.95	\$7.95	
Display Book A4*	2	.95	\$1.90	
* Students may already have these items from the previous year		TOTAL	\$117.40	

AVAILABLE TO PURCHASE FROM SCHOOL UNIFORM SHOP

Item Description	Qty	Unit Cost	Total Cost
Library Book Bag (from Uniform Shop) – Red**	1	\$10.00	\$10.00
Homework Bag (from Uniform Shop) - Blue	1	\$10.00	\$10.00

^{**} Students may continue to use a blue book bag for Library, however, when it needs to be replaced, a red one should be purchased.

TO BE PROVIDED BY THE SCHOOL AND BILLED WITH SCHOOL FEES

Item Description	Qty	Unit Cost	Total Cost
School Diary	1	\$8.50	\$8.50
Making Jesus Real Book	1	\$20.00	\$20.00
Grammar Conventions Book 3	1	\$15.00	\$15.00
Prime Maths Student Book 3A	1	\$13.50	\$13.50
Prime Maths Student Book 3B	1	\$13.50	\$13.50

Please cross out the items you do not wish to purchase from Waroona News. Orders need to be returned to school no later than December 8th, or they may be taken in to Waroona News directly. Completed orders will be available from WAROONA NEWS 12th January, 2018.

<u>Instructions from Class Teacher:</u> Consumable items will need to be replaced during the year, as needed. Please label ALL of your child's classroom equipment and cover all scrapbooks.



Year 4 Booklist 2018

Boy or Girl (please circle)

AVAILABLE FOR PURCHASE FROM WAROONA NEWS (97 331365)

Item Description	Qty	Unit Cost	Total Cost
Black Artline 0.6mm	2	\$2.50	\$5.00
Fine Line Black Pen 0.4mm Artline 200	2	\$2.50	\$5.00
Sharpie fine point marker (black)	2	\$1.95	\$3.90
Blue Biro	2	.50	\$1.00
Plastic Clipboard Folder A4	1	\$3.80	\$3.80
Eraser	3	.70	\$2.10
Glue Stick – UHU 40g	4	\$2.60	\$10.40
Pencil HB	6	.50	\$3.00
Coloured Pencils - Triangular Grip Faber 12's	1	\$2.95	\$2.95
Project Markers (Textas)	1	\$1.85	\$1.85
Red Pen	2	.50	\$1.00
Wind-up Crayons	1	\$2.95	\$2.95
Scissors	1	\$1.30	\$1.30
Slimpick Wallet	2	\$1.00	\$2.00
Highlighters – Pack of 6	1	\$5.50	\$5.50
Scrapbooks 64 Page (335 x 245 mm)	4	\$1.40	\$5.60
Ruler – 30cm wooden (cm & mm)	1	.60	.60
Tissues	2	\$2.80	\$5.60
Pencil case (no bigger than 32cm x 18cm)	1	\$2.50	\$2.50
Targeting Handwriting (NSW Foundation Font) Year 4 Book	1	\$14.95	\$14.95
New Wave Mental Maths Book E	1	\$12.95	\$12.95
Earphones*	1	\$7.00	\$7.00
Calculator Dual Power – Sovereign Mini Desk*	1	\$6.95	\$6.95
A3 Flip File Folder*	1	\$7.95	\$7.95
Sharpener Single Barrel	1	\$1.00	\$1.00
* Students may already have these items from the previous year		TOTAL	\$116.85

AVAILABLE TO PURCHASE FROM SCHOOL UNIFORM SHOP

Item Description	Qty	Unit Cost	Total Cost
Library Book Bag (from Uniform Shop) – Red**	1	\$10.00	\$10.00
Homework Bag (from Uniform Shop) - Blue	1	\$10.00	\$10.00

^{**} Students may continue to use a blue book bag for Library, if they already have one, however, when it needs to be replaced, a red one should be purchased.

TO BE PROVIDED BY THE SCHOOL AND BILLED WITH SCHOOL FEES

Item Description	Qty	Unit Cost	Total Cost
School Diary	1	\$8.50	\$8.50
Making Jesus Real Book (Only if new to school)	1	\$20.00	\$20.00
Grammar Conventions 4 Book	1	\$15.00	\$15.00
Prime Maths Student Book 4A	1	\$13.50	13.50
Prime Maths Student Book 4B	1	\$13.50	\$13.50

Please cross out the items you do not wish to purchase from Waroona News. Orders need to be returned to school no later than December 8th, or they may be taken in to Waroona News directly. Completed orders will be available from WAROONA NEWS 12th January, 2018. <u>Instructions from Class Teacher:</u> Please bring all items on the first day of school, including multiple items (eg. 4 glue sticks). Please cover all scrapbooks. Consumable items may need to be replaced during the year, as needed.



maine.	 	 	 _
Phone			

Year 5 Booklist 2018

Boy or Girl (please circle)

AVAILABLE FOR PURCHASE FROM WAROONA NEWS (97 331365)

7. T. D			
Item Description	Qty	Unit Cost	Total Cost
Black Artline Fineline Pen 0.4mm	2	\$2.50	\$5.00
Black Artline 0.6mm	2	\$2.50	\$5.00
Sharpie fine point marker (black)	3	\$1.95	\$5.85
Blue Biro	10	.50	\$5.00
Eraser	2	.70	\$1.40
Pencil HB	4	.50	\$2.00
Pencil Sharpener – Double Metal with Cannister	1	\$2.00	\$2.00
Coloured Pencils	1	\$2.00	\$2.00
Project Markers (Textas)	1	\$1.85	\$1.85
Biro Red	6	.50	\$3.00
Wind-up Crayons	1	\$2.95	\$2.95
Ruler – 30cm Wooden (cm & mm)	1	.60	.60
Scissors	1	\$1.50	\$1.50
Glue Stick – UHU 40g	3	\$2.60	\$7.80
Compass	1	\$2.20	\$2.20
Tissues	2	\$2.80	\$5.60
Highlighters – Pack of 6	1	\$5.50	\$5.50
New Wave Mental Maths Book F (Ages 10 – 11)	1	\$12.95	\$12.95
Protractor	1	.70	.70
Scrapbook	1	\$1.40	\$1.40
Earphones*	1	\$7.00	\$7.00
A3 Flip File Folder*	1	\$7.95	\$7.95
Calculator Dual Power – Sovereign SDT-001*	1	\$6.95	\$6.95
* Students may already have these items from the previous year		TOTAL	\$96.20

AVAILABLE TO PURCHASE FROM SCHOOL UNIFORM SHOP

Item Description	Qty	Unit Cost	Total Cost
Library Book Bag (from Uniform Shop) – Red**	1	\$10.00	\$10.00
Homework Bag (from Uniform Shop) - Blue	1	\$10.00	\$10.00

^{**} Students may continue to use a blue book bag for Library, if they already have one, however, when it needs to be replaced, a red one should be purchased.

TO BE PROVIDED BY THE SCHOOL AND BILLED WITH SCHOOL FEES

Item Description	Qty	Unit Cost	Total Cost
School Diary	1	\$8.50	\$8.50
Making Jesus Real Book	1	\$25.00	\$25.00
Oxford Grammar Year 5 Book	1	\$15.00	\$15.00

Please cross out the items you do not wish to purchase from Waroona News. Orders need to be returned to school no later than December 8th, or they may be taken in to Waroona News directly. Completed orders will be available from 12th January, 2018.

<u>Instructions from Class Teacher:</u> Consumable items will need to be replaced during the year, as needed. Please label ALL of your child's classroom equipment.



Year 6 Booklist 2018

Name		
Phone		

Boy or Girl (please circle)

AVAILABLE FOR PURCHASE FROM WAROONA NEWS (97 331365)

Item Description	Qty	Unit Cost	Total Cost
A4 Ring Binder File (25mm)	1	\$3.95	\$3.95
Red Biro	4	.50	\$2.00
Blue Biro	4	.50	\$2.00
Black Artline 0.6mm	2	\$2.50	\$5.00
Black Artline Fineline Pen 0.4mm	3	\$2.50	\$7.50
Dividers A4 – Coloured Plastic	1	\$1.20	\$1.20
Sharpie fine point marker (black)	4	\$1.95	\$7.80
Eraser	2	.70	\$1.40
Glue Stick – UHU 40g	2	\$2.60	\$5.20
Pencil HB	8	.50	\$4.00
Pencil Sharpener – Double Metal with Canister	1	\$2.00	\$2.00
Coloured Pencils	1	\$2.00	\$2.00
Project Markers (Textas)	1	\$1.85	\$1.85
Highlighters – Pack of 6	2	\$5.50	\$11.00
Wind-up Crayons	1	\$2.95	\$2.95
Ruler – 30cm Wooden (cm & mm)	1	.60	.60
Scissors	1	\$1.50	\$1.50
Loose Leaf Refills Reinforced (pack of 100)	2	\$2.95	\$5.90
Protractor	1	.70	.70
Compass	1	\$1.00	\$1.00
Tissues	3	\$2.80	\$8.40
Exercise Book (96 page)	8	\$1.30	\$10.40
New Wave Mental Maths Book G	1	\$12.95	\$12.95
Earphones*	1	\$7.00	\$7.00
Calculator Dual Power – Sovereign SDT-001*	1	\$6.95	\$6.95
* Students may already have these items from the previous year		TOTAL	\$115.25

AVAILABLE TO PURCHASE FROM SCHOOL UNIFORM SHOP

Item Description	Qty	Unit Cost	Total Cost
Library Book Bag (from Uniform Shop) – Red**	_ 1	\$10.00	\$10.00
Homework Bag (from Uniform Shop) - Blue	1	\$10.00	\$10.00

^{**} Students may continue to use a blue book bag for Library, if they already have one, however, when it needs to be replaced, a red one should be purchased.

TO BE PROVIDED BY THE SCHOOL AND BILLED WITH SCHOOL FEES

Item Description	Qty	Unit Cost	Total Cost
School Diary	1	\$8.50	\$8.50
Oxford Grammar Year 6 Book	1	\$15.00	\$15.00
Making Jesus Real Book (only if new to the school)	1	\$25.00	\$25.00

Please cross out the items you do not wish to purchase from Waroona News. Orders need to be returned to school no later than December 8th, or they may be taken in to Waroona News directly. Completed orders will be available from 12th January, 2018. <u>Instructions from Class Teacher:</u> Consumable items will need to be replaced during the year, as needed. Please label ALL of your child's classroom equipment.